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第一部分  听力  略

第二部分  阅读
21-25：CACCB 	26-30：BBBCA 	31-35：ABBBC 	36-40：ACEDB

41．Zhenjiang，Jiangsu．
42．No（，they can’t）．
43．60（years old）．
44．Rabbit．
45．Because it has rich traditional culture．

第三部分  语言运用
46-50：BABCC 	51-55：BBCAC

56．quickly	57．is	58．If	59．healthier
60．to relax	61．them	62．an	63．men
64．by / through	65．exercising

66．So she decided to wait for the butterfly．
67．所以对蝴蝶来说，从茧里出来更容易了。
68．This butterfly could hardly fly．
	/ This butterfly was nearly unable to fly．
69．因为她不知道蝴蝶需要足够的时间。
70．这可以使它的身体更小，翅膀更强壮。
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